OPEN END

r W 7051 4 [15] 13] 14 BILL OF MATERIAL
N 1 N 8455 65NS 80X40NS _B5X40NS ITEM DESCRIPTION MATERIAL  GRADE  swpLir  NB WALL  QTY
Nﬂ L EL +1452 1 Pipe DIN 2463 - SMS100 STSTEEL 316 SMS 200 2 484MM
[F22123 63283 — .~ 2 Pipe DIN 2463 - SMS100 ST STEEL 316 SMS 100 1.5 6457 MM
330 = 3 Pipe DIN 2463 - SMS100 STSTEEL 316 SMS 80 15 665MM
EL +1452 =~ 4 Pipe DIN 2463 - SMS100 STSTEEL 316 SMS 65 15 331MM
/ 5  Equal 90 Tee DIN 2559 STSTEEL 316 SMS 200X200 2 1
200NS~ / 6 Reducer - Concentric, DIN 2463 ST STEEL 316 SMS 200X100 2 1
— / ) 7  Bend DIN 2605-90 LR EL STSTEEL 316 SMS 200 2 3
(918 G0 83 | 303 /.mmn_um‘ DLE U 8  Equal 90 Tee DIN 2559 STSTEEL 316 SMS 100X100 15 3
/ > 9  Reducer - Concentric, DIN 2463 ST STEEL 316 SMS 100X50 1.5 1
mmu.m FROM [F22 123 632 | [7] 7] ﬂvmuww! D 10 Bend DIN 2605-90 LR EL STSTEEL 316 SMS 100 15 4
TAPPING CONNECTION 300 , ——— N 7283 11  Bend DIN 2605-90 LR EL ST STEEL 316 SMS 100 15 3
W 6490 EL +1452 12 Bend DIN 2605-45 LR EL ST STEEL 316 SMS 100 15 3
N 7753 8 13 Reducer - Concentric, DIN 2463 ST STEEL 316 SMS 80X40 1.5 1
EL +1452 200X100NS — 14 Reducer - Concentric, DIN 2463 ST STEEL 316 SMS 65X40 15 1
15 Bend DIN 2605-90 LR EL STSTEEL 316 SMS 65 15 1
16 Bend DIN 2605-45 LR EL STSTEEL 316 SMS 50 15 1
17 Bend DIN 2605-90 LR EL STSTEEL 316 SMS 40 15 1
18 Welding Neck Pressed Collar ~ ST STEEL 316 SMS 200 2 1
DN2463
19 Flange - PN10/16 Backing CSTEEL BZP SMS 200 1
20 Flange - PN10/16 Backing CSTEEL BZP SMS 100 1
21 Welding Neck Pressed Collar ST STEEL 316 SMS 100 15 1
Cutback Elbow DN2463
EL —49 22 Flange - PN10/16 Backing CSTEEL BZP SMS 80 2
\ 26 OPEN END 23 Welding Neck Pressed Collar ~ ST STEEL 316 SMS 80 15 2
SPINDLE E 5409 DN2463
N 6895 24 Flange - PN10/16 Backing CSTEEL BZP SMS 50 2
EL +1712 25 Welding Neck Pressed Collar ST STEEL 316 SMS 50 15 2
DN2463
EL +1357 , 62 50NS 26 Knife Gate Valve, PN10/16, Hand 100 1
OPEN END Wheel, H=362, W=200
W 4602 27 Knife Gate valve ND 80-PN 10/16, 80 1
- ‘u_.a.ﬂ_wo_ Hand Wheel, H=350, W=200
28 Pipe slide / Pipe anchor 1
N.J»ZKXLHE 633 B36 | 29 Clamped slide 3 / Clamped anchor 1
L 3
y 9] 30 Gasket, Flat, 200 ND, PN16 SMS 200 1
EL +1712 ' T 100X50NS 31 Gasket, Flat, 100 ND, PN16 SMS 100 1
/ 853 32 Gasket, Flat, 80 ND, PN16 SMS 80 2
\EL 4249 33 Gasket, Flat, 50 ND, PN16 SMS 50 1
34 Machine Bolt M20 x  Lg, wi SMs 8
OPEN END @ 8 Hex. Nut M20, Washer M20,
W 4529 - o 100X100NS 35 Machine Bolt M16 x 100 Lg, w/1 SMs 8
N B ~ Hex. Nut M16, 2 Washer M16,
[12] 36 Machine Bolt M16 x 100 Lg, w/1 SMS 4
135° Hex. Nut M16, 2 Washer M16,
,,g : /
N 4504 8l
B +132 792 T00ctoons \10]
(2]
100NS
r1 J\ <
uty MAXIMUM WORKING CONDITIONS :
PIPING CONTRACTOR TO CHECK ALL DIMENSIONS PRIOR TO FABRICATION
INSTRUMENT CONNECTION POSITIONS TO BE SITE DETERMINED
DRAWN BY [DATE |
PIPING CONTRACTOR TO DECIDE ON EXTENT OF ANY PREFABRICATION U\}mmozm mm~mm ISOMETRIC PIPE DETAIL CHECKED BY |_.U>._.m _
PAPER_MACHINE JOB_STE [SHT. NO/|
PIPING DIVISION
K DENOTES FIELD WELD. ONE END OF PIPE 150 (6%) LONG ETON HILL ROAD
- DENOTES FLANGE LOGSE FOR SITE WELD. END OF FIPE 150 (6°) LONG UWNMﬂmmmmm PIPING MATERIAL SPECIFICATION JOB No DRAWING No. REV.
REV| DATE BY DESCRIPTION M26 27T gr_1000




